
SAP ABAP table ROIGS0 {Quantities in TD Shipment - temporary}

ROIGS0

SHUOM [UNIT (3)]

MEINS [UNIT (3)]

ITSTLC [CHAR (4)]

LDPLT [CHAR (4)]

LDSTLC [CHAR (4)]

LBATCH [CHAR (10)]

LBATCH1 [CHAR (10)]

RCPLT [CHAR (4)]

RCSTLC [CHAR (4)]

RTPLT [CHAR (4)]

RTPLT_H [CHAR (4)]

RTSTLC [CHAR (4)]

TUOM [UNIT (3)]

LDTUOM [UNIT (3)]

RRTUOM [UNIT (3)]

DLTUOM [UNIT (3)]

UOM_DEFLT [UNIT (3)]

LVUOM [UNIT (3)]

LVUOM_H [UNIT (3)]

RTUOM [UNIT (3)]

RTUOM_H [UNIT (3)]

VHUOM [UNIT (3)]

MUOM [UNIT (3)]

TRUOM_PTL [UNIT (3)]

REAS_CODE [CHAR (2)]

REAS_COD2 [CHAR (2)]

REAS_COD3 [CHAR (2)]

NEW_CHARG [CHAR (10)]

NEW_LGORT [CHAR (4)]

OLD_LGORT [CHAR (4)]

MCH1

MANDT [CLNT (3)]

MATNR [CHAR (18)]

CHARG [CHAR (10)]

 ROIGS0-NEW_CHARG = MCH1-CHARG 

0..N

0..N

MCHB

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

CHARG [CHAR (10)]

 ROIGS0-LBATCH = MCHB-CHARG 

0..N

0..N

 ROIGS0-LBATCH1 = MCHB-CHARG 
0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 ROIGS0-ITSTLC = T001L-LGORT 

0..N

0..N

 ROIGS0-LDSTLC = T001L-LGORT 

0..N

0..N

 ROIGS0-NEW_LGORT = T001L-LGORT 

0..N

0..N

 ROIGS0-OLD_LGORT = T001L-LGORT 
0..N

0..N

 ROIGS0-RCSTLC = T001L-LGORT 0..N

0..N

 ROIGS0-RTSTLC = T001L-LGORT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ROIGS0-LDPLT = T001W-WERKS 

0..N0..N
 ROIGS0-RCPLT = T001W-WERKS 

0..N

0..N

 ROIGS0-RTPLT = T001W-WERKS 0..N

0..N
 ROIGS0-RTPLT_H = T001W-WERKS 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIGS0-DLTUOM = T006-MSEHI 

0..N

0..N  ROIGS0-LDTUOM = T006-MSEHI 

0..N

0..N
 ROIGS0-LVUOM = T006-MSEHI 

0..N

0..N

 ROIGS0-LVUOM_H = T006-MSEHI 

0..N

0..N

 ROIGS0-MEINS = T006-MSEHI 

0..N

0..N

 ROIGS0-MUOM = T006-MSEHI 

0..N

0..N

 ROIGS0-RRTUOM = T006-MSEHI 

0..N

0..N

 ROIGS0-RTUOM = T006-MSEHI 
0..N

0..N

 ROIGS0-RTUOM_H = T006-MSEHI 0..N
0..N

 ROIGS0-SHUOM = T006-MSEHI 

0..N

0..N

 ROIGS0-TRUOM_PTL = T006-MSEHI 

0..N

0..N

 ROIGS0-TUOM = T006-MSEHI 

0..N

0..N

 ROIGS0-UOM_DEFLT = T006-MSEHI 

0..N

0..N

 ROIGS0-VHUOM = T006-MSEHI 

0..N

0..N

TOIGS4

CLIENT [CLNT (3)]

TDACT [CHAR (1)]

REAS_CODE [CHAR (2)]

 ROIGS0-REAS_COD2 = TOIGS4-REAS_CODE 

0..N

0..N

 ROIGS0-REAS_COD3 = TOIGS4-REAS_CODE 

0..N

0..N

 ROIGS0-REAS_CODE = TOIGS4-REAS_CODE 
0..N

0..N


